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Seat No: ___________     Enrollment No: ____________________ 

PARUL UNIVERSITY 
FACULTY OF ENGINEERING & TECHNOLOGY 

Diploma Engineering,Mid semester Examination 

Semester: 4TH          Date: 19-01-2023 

Subject Code: 03612253        Time: 1hr: 30min 

Subject Name: Vehicle Kinematics & Dynamics      Total Marks: 40 

Instructions:  

1. Attempt all questions. 

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic. 

 

Q.1 Answer any six out of Ten.  (2 Marks Each) (12) Co/Po 

Name  

Blooms 

Taxonomy 

Words 

 1. Differentiate between Lower pair and Higher pair.   Understand  

 2. Explain kinematic link?   Understand 

 3. Differentiate between Rigid link and Flexible link.   Understand  

 4. Explain Theory of machine?   Understand 

 5. Enlist the sub divisions of theory of machine and explain them    Knowledge  

 6. Define Drag, and Lift   Knowledge  

 7. Define degree of freedom.   Knowledge 

 8. Explain Kinematics and Dynamics   Understand 

 9. Write down the various types of cams and followers.   Create 

 10. Differentiate between structure and machine.   Understand  

Q.2 A) Derive the equation for the partial balancing of unbalanced primary 

force in reciprocating engine. 
(04)  Apply  

 OR    

 A) Explain shaking force and shaking couple. (04)  Understand 

 B) A single cylinder reciprocating engine has a speed of 240 rpm, the 

length of stroke is 30 cm, weight of the reciprocating part is 50 kg, 

weight of the revolving part at 15 cm radius is 37 kg. If 2/3 of 

reciprocating parts are to be balanced.  

Then, calculate (1) Balance weight required at a radius of 40 cm. 

(2) Find the residual unbalanced force when crank is rotated 60° from 

TDC.  

(05)  Apply 

 OR    

 B) A single cylinder reciprocating engine has speed 250 rpm, stroke 290 

mm, mass of reciprocating parts 50 kg, mass of revolving parts at 150 

mm radius 40 kg. If 2/3 of the reciprocating parts and all the revolving 

parts are to be balanced,  

find (1). The balancemass required at a radius of 400 mm,  

(2) The residual unbalanced force when the crank hasrotated 60° from 

top dead centre. 

(05)  Apply 

 C) Four masses m1, m2, m3, m4 are 200 kg, 300 kg, 240 kg and 260 kg 

respectively. The corresponding radii of rotation are 0.2 m, 0.15 m, 0.25 

m and 0.3 m respectively and the angles between successive masses are 

45°, 75°, and 125°. Find the position and magnitude of the balance mass 

required if its radius of rotation is 0.2 m. solve with analytical method. 

(05)  Apply 

Q.3 A) Explain the method of balancing of single rotating mass by single 

mass rotating in same plane? 
(03)  Understand 

 OR    

 A) Explain static and dynamic balancing (03)  Understand 

 B) Explain four bar mechanism with sketch (03)  Understand 

 OR    

 B) Explain hammer blow. (03)  Understand 

 C)Derive the equation for the balancing of several masses rotating in 

same plane. 
(04)  Apply 

 OR    
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 C) Derive the equation for the variation in tractive effort.  (04)  Apply  

 D) Derive the equation for the swaying couple (04)  Apply  

 

 
ગજુરાતી 

 

પ્રશ્ન.૧ દસમાાંથી કોઈપણ છ જવાબ આપો.(દરકેમાટે૨ગુણ) (૧૮) 

 1. Lower pair અને Higher pair વચ્ચેતફાવતઆપો  

 2. કાયનામાટટકટ ાંકસમજાવો  

 3. Rigid link અને flexible link વચ્ચેતફાવતઆપો  

 4. મશીનનોટસદ્ાાંતશુાંછે?.  

 5. મશીનનાટસદ્ાાંતનાપેટાટવભાગોનેસટૂચબદ્કરોઅનેતેમનસેમજાવો  

 6. .Drag, અને Liftનીવ્યાખ્યાઆપો  

 7. સમજાવોવ્યાખ્યાઆપોdegree of freedom  

 8. કાયનેમાટીક્સઅનેડાયનટેમક્સસમજાવો  

 9. ટવટવધપ્રકારનાcam અનfેollower  ખો.  

 10. Structure અનેmachine વચ્ચતેફાવતઆપો  

પ્રશ્ન.2 A) પારસ્પટરકએટજજનમાાંઅસાંતુટ તપ્રાથટમકબળનાઆાંટશકસાંતુ નમાટેસમીકરણમેળવો. (૦૪) 

 અથવા  

 A) ધ્રજુારીબળઅનેધ્રજુારીદાંપતીસમજાવો. (૦૪) 

 બી) ટસાંગ ટસટ જડરરીસીપ્રોકેટી ાંગએટજજનનીઝડપ 240 આરપીએમછે, સ્ટર ોકની ાંબાઈ 30 સેમીછે, 

રસેીપ્રોકેટી ાંગભાગનુાંવજન 50 ટકગ્રાછે, 15 સમેીટિજ્યામાાંફરતાભાગનુાંવજન 37 ટકગ્રાછે. 

જોપારસ્પટરકભાગોના 2/3 ભાગનેસાંતુટ તકરવાનાહોય. પછી, ગણતરીકરો 

(1) 40 સે.મી.નીટિજ્યાપરજરૂરીસાંતુ નવજન. 

(2) જ્યારકેે્રજકને TDC થી 60° ફેરવવામાાંઆવતે્યારશેેષઅસાંતુટ તબળશોધો. 

(૦૫) 

 અથવા  

 બી) ટસાંગ ટસટ જડરરીસીપ્રોકેટી ાંગએટજજનમાાંસ્પીડ 250 આરપીએમ, સ્ટર ોક 290 મીમી, 

રીસીપ્રોકેટી ાંગપાર્ટસસનુાંદળ 50 ટકગ્રા, ફરતાભાગોનુાંદળ 150 મીમીટિજ્યા 40 ટકગ્રાછે. જોપારસ્પટરકભાગોના 

2/3 ભાગોઅનેબધાફરતાભાગોનસેાંતુટ તકરવાહોય, 

શોધો (1). 400 મીમીનીટિજ્યામાાંજરૂરીસાંતુ નસમૂહ, 

(2) અવશેષઅસાંતટુ તબળજ્યારકેે્રજકટોચનામૃતકેજરથી 60° ફરછેે. 

(૦૫) 

 C) ચારમાસ m1, m2, m3, m4 અનુક્રમે 200 kg, 300 kg, 240 kg અને 260 kg છે. 

પટરભ્રમણનીઅનરુૂપટિજ્યાઅનુક્રમે 0.2 મીટર, 0.15 મીટર, 0.25 મીટરઅને 0.3 

મીટરછેઅનેક્રટમકસમહૂવચ્ચનેાખૂણા 45°, 75° અને 125° છે. જોતેનીપટરભ્રમણનીટિજ્યા 0.2 

મીટરહોયતોજરૂરીસાંતુ નસમૂહનીટસ્થટતઅનેતીવ્રતાશોધો. ટવશ્લેષણાત્મકપદ્ટતથીઉકે ો. 

(૦૫) 

પ્રશ્ન.3 A) એક જ સમત માાંફરતાટસાંગ દળદ્વારાટસાંગ ફરતાદળનસેાંતુટ તકરવાનીપદ્ટતસમજાવો? (૦૩) 

 અથવા  

 A) ટસ્થરઅનેગટતશી સાંતુ નસમજાવો (૦૩) 

 બી) સ્કેચસાથચેારબારટમકેટનઝમસમજાવો (૦૩) 

 અથવા  

 બી) હથોડીનોફટકોસમજાવો. (૦૩) 

 C) એક જ સમત માાંફરતાઅનેકસમૂહોનાસાંતુ નમાટેસમીકરણમેળવો. (૦૪) 

 અથવા  

 C) આકષસકપ્રયત્નોમાાંટવટવધતામાટેસમીકરણમળેવો. (૦૪) 

 ડી) ડો તાયુગ માટેસમીકરણમેળવો (૦૪) 

 


